O 758k NE|AE =2 S
TE Y= T
=4 sHgs HE 71| T tEdda | HE 71 el X7t dat
1 +A0[25 % (pH) - - 9.0 - - 6.9
2 | M=t At SEF (BOD) - mg/X 13,514.5 30 O35} mg/% 37
3 % J7|EtA (TOCQ) - mg/X 15,150.4 55 0|3} mg/% 19.4
4 BEo2F (S9) - mg/! 9,335.5 30 O[3} mg/2 3.6
5 = 22 (T-N) - mg/X 4,898.632 60 O3} mg/% 14.238
6 % 21 (T-P) - mg/X 487.266 8 0|5} mg/% 0.114
7 EN P - 7h/L 169,161 3000 O[Sk ZH/L 26

O 2k MEAE X2 HE

T2 Y e
=H sdg= HE 71E| T 7rEsdEn [(HE 2IE] B X2tEd da
1 F20[25 % (pH) - - 79 - - 6.7
2 | A=t M4 Q48 (BOD) - mg/! 41743 30 0|8t mg/2 2.0
3 & {7|EtA (TOCQ) - mg/X 4,652.2 30 0|3t mg/¢ 10.2
4 F2=2E (S9) - mg/! 6,440.0 30 0|8t mg/2 1.3
5 = EHA (T-N) - mg/! 2,300.070 60 0|3} mg/2 8.283
6 = 0l (T-P) - mg/! 214.168 8 0|5} mg/2 0.177
7 SUHE = - =/m@ 62,600 3000 O[3t ==/me 46

o
T2 Y= gET
= ] HE 718 T iAxgAn |Hd™ 721E| ©4 CHl =78 A1}
1 +A0|25% (pH) - 6.9 5.8~8.0 - 6.6
2 | ME3et LAQ 2 (BOD) - mg/% 11.5 30 O3} mg/X 1.0
3 otstA At R LEHCOD) - mg/% 167.2 200 O[3t | mg/t 63.7
4 BEoEF (S9) - mg/! 56.2 30 0|3t mg/t 46
5 = EHA (T-N) - mg/{ 116.900 100 O[3} | mg/t 62.600
6 Z 2 (T-P) - mg/t 1.657 4 0|5} mg/2 0.157
7 e P e - 2=/m@ 6 100 O[S} | %=/m@ 0
O &718 s M2A|E s=X2| g
T2 Y= gEr
= ] HE 718 T iAxgAn |Hd™ 71E| 4 CHl =78 A0}
1 F20|2F% (pH) - . 7.9 5.8~8.0 - 7.7
2 | dE3EE MAQFE (BOD) - mg/2 12.4 30 0|3t mg/% 1.2
3 tetA it 2 L 2HCOD) - mg/% 199.2 200 O[3t | mg/t 46.0
4 E2REH (SS) - mg/2 55.0 30 O|&} mg/? 0.7
5 T HA (T-N) - 2=/ml 125.800 100 O[3t | ==/me 44.200
6 % ol (T-P) - mg/! 0.915 4 0|3} mg/¢ 0.134
7 SOy AT - mg/% 610 100 O[Sk |  mg/t 1




